www.Padasalai.Net www.TrbTnpsc.com 51

—
the question
Read the Poetic lines answer ongth to wail.

. tr
1 With the patience to work and the S ¢ patience?
a) Why does a couragecus man ek

b) Pick out the alliterated words. —
2 It's Part of his hours, his days and his 'y .

Back of his smiles and behind his tears.

a) What does lears mean?

b) Pick out the rhyming words.

c) Write the rhyme scheme. '
X Quote from the Poem "Sea fever

| mustgodown ----- -~ |
-------- grey dawn breaking

XI. Identify the character / speaker.

1. Wake up child

2. Stop ship Drop anchor quick!

Don't worry madam, It's only a warning
4. A man fell into the sea. please save him
XIl. Choose the correct sequence

They felt safer.

- 1. P! lowatch the mountain
2. Q: of more than five miles
3. R: as they settled down
4. S: from a distance
Xill.Look at the picture and answer the questions.

L

What is near them?
Say true or false: Are they Swimming

1. What do you sea in the picture
2. Where are the men?

3. Whatare they doing?
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THIRD MID TERM TEST - 2025

Standard - VIl o
Time: 1.30 hrs MATHS Marks:5
| Choose the correct answer. 10x1=1
1. 1.0+083= |
a) 0.17 by 0.71 c) 1.83 d) 1.38
2. 2.08x10=
a) 20.8 _ b)208.0 c)0.208 .  d)280.0
3. 0.05+05=
%) 0.01 b) 0.1 ¢) 0.10 d) 1.0
4, Write 1/20 as percent | o
a) 50% " b)20% c) 5% d) 10%
5. Kavin scored 15 out of 251in a test. The percentage of his marks is
d) 60% b) 15% c) 25% d) 15/25
6. Convert 142.5% as Decimal value
3)1.425 b)0.1425 <) 1425  d)14.25
7. The interest for a principle ¥4,500 which gives an amount of ¥ 5000 at end of
 certain period is ¥ |
41500 b) 200 c) 20% d) 15%
8. It a+b=5and a?+b?=13 then ab= !
a) 12 66 05 d) 13
9. The solution of the equation 3<P<6 are b
a)4.56 b) 34,5 c)4and5 d)3,4,56
10.0.07%is )
a) 710 B)7100  ¢)7000  d)7/10,000

Il Fiil in the blanks Ex

11.051+025=_n . (,

. 120.1x01=n_.~1
13. Simple Interest 1 = [ 4570

14-0.54-3:'1 ") l?

15. The product of (x+5) and (x-5) = 2D
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(2) Vil Maths
Il Match the following ; 5x1=56
16. 0.295 km - . T% 7
17. 257 x 10 .- P+l
18. 7/100 - -625
19. Amount (A) - 285m '
20. (5+20)(-20-5) - 25.7:

5x2=10

IV Give answers any five:

21, Subtract 3.285 from 7
22. Find the area of the rectangle whose length is 23.7cm and breadth is 15.2cm.

' 36
23. Convert 50 as percentage.

24, Divide : 62.5 + 0.25
25. Kuralmathi bought a raincoat and saved ¥ 25 with discount of 20% what was the

original price of the raincoat?
26. Find the simple interest on ¥ 25,000 at 8% per annum for 3 years? ~

27. Express the following as the prnduc! of rts factors
i) ab? i) -3pq*
V Answer any five of the following:

28. Add the 25.8+18.53 by using place value grid.

29. Simplify : 0.3992 + 2.1 »
30. Ipiyan bought 5 dozen eggs. Out of that 5 dozen eggs. 10 eggs are rotien.

Express the number of good eggs as percentage.
31. Atank can hold 50 litres of water. At present, it is only 30% full. How many litres

of water will fill the tank, so that it is 50% full.
32. In what time will ¥ 5600 amount to T 6720 at 6% per annum?

33. Multiply the following
) 34.51 x 100 i) 0.7 x 10 i) 0.02 x 1000

34, Find the product of (x+3) and (x+7)
VI Answer any one of the following:

5x3=18

1x5=8

35, a) [Jraw*a circle with radius 5cm.

(OR) .
b) Draw concentric circles for the following measurement.
r, =3.5cmand r, = 6.5 cm find out the width of Circular ring.

't*r.. .
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